8. Apply one full step of the simplex algorithm. Circle your pivot, write out vour row
operations, and write down the next tableau. Explain why that next tableau is or is not

ﬁnal. (This is the table for #4 resulting from the three decisions: (1) Leafy is good, but limited by the demand for Leafy, (2) Soupy is good,

but limited by the remaining supply of vegetable stock, (3) hungry Leafy customers are actually ok, as this decreases hungry Soupy customers)
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Is this a final tableau? Why or why not?
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